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AD–4081

B.A. Part—I (Semester—I) (CBCS) Examination

(Optional Subject)

HISTORY

[History of India (From Earliest Time to 700 A.D.)]

Time : Three Hours] [Maximum Marks : 80

Note :— (1) All questions are compulsory.

(2) The answers to essay type questions carrying 12 marks each are expected in about

600 words.

(3) The answers to short answer type questions carrying 3 marks each are expected in

about 150 words.

1. Choose the correct options :

(1) Who has written the book ‘Siyuki’ ?

(a) Hiuen-Tsang (b) Fahiyan

(c) Itsing (d) Megasthenis

(2) What was the form of Harappan Civilization ?

(a) Rural (b) Urban

(c) Semi-urban (d) None of these

(3) How many type of major Sanskara’s in Vedic period ?

(a) 16 (b) 8

(c) 32 (d) 18

(4) How many Varnas were there in the Varna System ?

(a) 10 (b) 6

(c) 4 (d) 8

(5) Who was the founder of the Mauryan Empire ?

(a) Udayan (b) Nagananda

(c) Mahendra (d) Chandragupta Maurya

(6) The name of the book written by Kautilya :

(a) Arthashastra (b) Dipvansha

(c) Mahavansha (d) Harivijay
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(7) To whom did the famous Navratna Darbar belong ?

(a) Harshvardhan (b) Chandragupta Vikramaditya

(c) Goutamiputra Shatakrni (d) Gopraj

(8) Which were the Sects of Jainism ?

(a) Hinyan-Mahayan (b) Cathalic-Protestant

(c) Digambar-Shwetambar (d) Shiya-Sunni

(9) When did Gautan Buddha died ?

(a) 389 B.C. (b) 487 B.C.

(c) 587 B.C. (d) 689 B.C.

(10) Who established the Shung Dynasty by killing the last Maurya Ruler Brihadratha ?

(a) Kanishak (b) Pushyamitra

(c) Harshvardhan (d) Kumar Gupta

(11) In which Dynasty was Prabhavatigupta married ?

(a) Vakataka (b) Kushan

(c) Pallava (d) Chola

(12) Which King affixed the name of his mother to his name ?

(a) Simuk (b) Puluyami

(c) Vijay (d) Vedshree

(13) Which dynasty’s reign was known as the ‘Golden Era’ ?

(a) Gupta (b) Vakatak

(c) Shung (d) Maurya

(14) Which the famous University during Mauryan period ?

(a) Takshshila (b) Nalanda

(c) Kanchi (d) Vallabhi

(15) Where did “Sarvadharma Parishad” called by Harshvardhan ?

(a) Kundalvana (b) Patliputra

(c) Vaishali (d) Kannaoj

(16) Which book written by Harshvardhan ?

(a) Lilawati (b) Rajatarangini

(c) Priyadrashika (d) Indica
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(17) In which philosophy Nalanda University was the great center ?

(a) Jain (b) Vaishnav

(c) Buddha (d) Shaiva

(18) Who built the city of Kanishkapur ?

(a) Ashok (b) Kumargupt

(c) Kanishak (d) Harshvardhan

(19) Who organized the Sarvadharma Sammelan of Kannaoj ?

(a) Harshvardhan (b) Ashok

(c) Vikramaditya (d) Kanishak

(20) What was the period of education during the Vedic age ?

(a) 12 years (b) 8 years

(c) 6 years (d) 10 years 20×1=20

2. Answer the following questions :

(a) Explain the importance of foreign travellers as a source of Ancient Indian History.

3

(b) Explain in detail about the Great Bath. 3

(c) Note down the Sabha and Samiti. 3

(d) Write about religious condition during the Pre-vedic period. 3

OR

(e) Describe the literary sources of Ancient Indian History. 3

(f) State the importance of coins as a source material for Ancient Indian History. 3

(g) Explain about the Varna System. 3

(h) Explain about the marriage system during Vedic period. 3

3. Answer the following questions :

(a) Illustrate the ‘Ashtang Marg’ of Buddhism. 3

(b) Write about the ‘Indica Book’. 3

(c) Write about the Buddhism Sectarianism. 3

(d) Why did Emperor Ashoka become a follower of Buddhism. 3

OR
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(e) Tell us about the Triratna of Jainism. 3

(f) Write about the principle of ‘Panchashila’ of Buddhism. 3

(g) State the causes for the spread of Jainism. 3

(h) Write about the spy system of the Mauryas. 3

4. Describe the administration of the Gupta’s period. 12

OR

Describe the works of Chandragupta II. 12

5. Answer the following questions :

(a) What were the developments in scientific field during Gupta age. 3

(b) Discuss the contribution of Harshvardhan in Buddhism. 3

(c) State the cultural contribution of the Vakataka’s. 3

(d) Write a note on Fa-hien. 3

OR

(e) Write a note on Kalidas. 3

(f) Explain the social conditions during Vakataka Dynasty. 3

(g) Write a note on Vardhan Dynasty. 3

(h) What was the Samudragupta’s conquest policy towards Dakshinapath ? 3

6. Describe the contribution of women in Ancient India. 12

OR

Describe the education system in Ancient India. 12
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139

139

13
9

139 139

AD–4081

B.A. Part—I (Semester—I) (CBCS) Examination

(Optional Subject)

HISTORY

[History of India (From Earliest Time to 700 A.D.)]

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½

lwpuk :— (1) loZ iz’u vko’;d vkgsr-

(2) 12 xq.kkaP;k fn?kksZÙkjh iz’ukaph mÙkjs lqekjs 600 ’kCnki;±r vlkohr-

(3) 3 xq.kkaP;k y?kqÙkjh; iz’ukaph mÙkjs lqekjs 150 ’kCnki;±r vlkohr-

1. ;ksX; i;kZ; fuoMk :—

(1) ^fl;qdh* gk xzaFk dks.kh fyfgyk \

¼v½ áq,u&Rlax ¼c½ Qkfg;ku

¼d½ bfRlax ¼M½ esxWLFksful

(2) gMIik laLÑrh dks.kR;k izdkjph gksrh \

¼v½ xzkfe.k ¼c½ ukxjh

¼d½ v/kZukxjh ¼M½ ;kiSdh ukgh

(3) osndkGkr fdrh laLdkj dsys tkr gksrs \

¼v½ 16 ¼c½ 8

¼d½ 32 ¼M½ 18

(4) o.kZ O;oLFksr fdrh o.kZ vfLrRokr gksrs \

¼v½ 10 ¼c½ 6

¼d½ 4 ¼M½ 8

(5) ekS;Z lkezkT;kph LFkkiuk dks.kh dsyh \

¼v½ mn;u ¼c½ ukxkuan

¼d½ egsUnz ¼M½ panzxqIr ekS;Z

(6) dkSfVY;kus dks.krk xzaFk fyfgyk \

¼v½ vFkZ’kkL= ¼c½ fnioa’k

¼d½ egkoa’k ¼M½ gjhfot;

LT—73 5 (Contd.)
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(7) izfl) uojRu njckj dks.kkpk gksrk \

¼v½ g"kZo/kZu ¼c½ panzxqIr foØekfnR;

¼d½ xkSrehiq= ’kkrd.khZ ¼M½ xksijkt

(8) tSu /kekZrhy iaFk dks.krs gksrs \

¼v½ fgu;ku&egk;ku ¼c½ dWFkkWfyd&izksVsLVsaV

¼d½ fnxEcj&’osrkacj ¼M½ f’k;k&lqUuh

(9) xkSre cq)kaP;k e‘R;q d/kh >kyk \

¼v½ b-iw- 389 ¼c½ b-iw- 487

¼d½ b-iw- 587 ¼M½ b-iw- 689

(10) ’ksoV;k ekS;Z ’kkld c‘zgnzFk ;kpk [kwu d:u dks.kh ’kqax oa’kkph LFkkiuk dsyh \

¼v½ dfu"d ¼c½ iq";fe=

¼d½ g"kZo/kZu ¼M½ dqekjxqIr

(11) izHkkorhxqIrkpk fookg dks.kR;k jktoa’kk cjkscj >kyk gksrk \

¼v½ okdkVd ¼c½ dq’kku

¼d½ iYyo ¼M½ pksy

(12) vkiY;k ukokleksj vkiY;k vkbZps uko yko.kkjk jktk dks.krk \

¼v½ fleqd ¼c½ iqy;keh

¼d½ fot; ¼M½ osnJh

(13) dks.kR;k oa’kkpk dkG ^lqo.kZ;qx* Eg.kwu vksG[kyk tkrks \

¼v½ xqIr ¼c½ okdkVd

¼d½ ’kqax ¼M½ ekS;Z

(14) ekS;Z dkGkrhy izfl) fo|kihB dks.krs \

¼v½ r{kf’kyk ¼c½ ukyank

¼d½ dkaph ¼M½ oYyHkh

(15) g"kZo/kZukus loZ/keZ ifj"knsps vk;kstu dksBs dsys \

¼v½ dqaMyou ¼c½ ikVyhiq=

¼d½ oS’kkyh ¼M½ dUukSt

(16) g"kZo/kZukus dks.krk xzaFk fyfgyk \

¼v½ yhykorh ¼c½ jktrjafx.kh

¼d½ fiz;nf’kZdk ¼M½ bafMdk

LT—73 6 (Contd.)
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(17) dks.kR;k rÙoKkukps ukyank fo|kihB eq[; dsanz gksrs \

¼v½ tSu ¼c½ oS".ko

¼d½ ckS) ¼M½ ’kSo

(18) dfu"diwj ’kgj dks.kh olfoys \

¼v½ v’kksd ¼c½ dqekjxqIr

¼d½ dfu"d ¼M½ g"kZo/kZu

(19) dUukStP;k loZ/keZ ifj"knsps vk;kstu dks.kh dsys gksrs \

¼v½ g"kZo/kZu ¼c½ v’kksd

¼d½ foØekfnR; ¼M½ dfu"d

(20) oSfnd dkGkr f’k{k.kkpk dkyko/kh fdrh o"kkZpk ekuyk tkr gksrk \

¼v½ 12 o"k Z ¼c½ 8 o"kZ

¼d½ 6 o"kZ ¼M½ 10 o"k Z 20×1=20

2. [kkyhy iz’ukaph mÙkjs fygk %—

¼v½ izkphu HkkjrkP;k bfrgklkps lk/ku Eg.kwu fons’kh izok’kkaph o.kZus ;kaps egRo Li"V djk- 3

¼c½ egkLukux‘g ;kcíy ekfgrh lkaxk- 3

¼d½ lHkk lferhoj fVi.k fygk- 3

¼M½ iwoZoSfnd dkGkrhy /kkfeZd fLFkrh lkaxk- 3

fdaok

¼b½ izkphu HkkjrkP;k bfrgklkP;k ok³~e;hu lk/k.kkaps o.kZu djk- 3

¼Q½ izkphu HkkjrkP;k bfrgklkps lk/ku Eg.kwu uk.;kaps egRo Li"V djk- 3

¼x½ o.kZO;oLFkscíy ekfgrh lkaxk- 3

¼g½ oSfnd dkGkrhy fookg O;oLFkscíy ekfgrh lkaxk- 3

3. [kkyhy iz’ukaph mÙkjs fygk %—

¼v½ ckS) /kekZrhy v"Vkax ekxkZps foospu djk- 3

¼c½ ^bafMdk* cíy ekfgrh lkaxk- 3

¼d½ ckS) /kekZP;k iaFkkfo"k;h ekfgrh lkaxk- 3

¼M½ lezkV v’kksdkus ckS) /kekZpk fLodkj dk dsyk- 3

fdaok

¼b½ tSu /kekZrhy f=jRukckcr ekfgrh lkaxk- 3

¼Q½ ckS) /kekZrhy ^iap’khy rRok* cíy fygk- 3

¼x½ tSu /kekZP;k izlkjkph dkj.ks lkaxk- 3

¼g½ ekS;k±P;k gsj O;oLFkscíy fygk- 3
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4. xqIrdkGkrhy iz’kklu O;oLFksps o.kZu djk- 12

fdaok

panzxqIr f}rh;P;k dkefxjhps o.kZu djk- 12

5. [kkyhy iz’ukaph mÙkjs fygk %—

¼v½ xqIrdkGkrhy oSKkfud fodkl lkaxk- 3

¼c½ ckS) /kekZlaca/khps g"kZo/kZukps ;ksxnku lkaxk- 3

¼d½ okdkVdkaps lkaLÑrhd ;ksxnku lkaxk- 3

¼M½ Qkgh;ku oj fVi fygk- 3

fdaok

¼b½ dkyhnklkaoj fVik fygk- 3

¼Q½ okdkVd dkGkrhy lkekftd fLFkrh Li"V djk- 3

¼x½ o/kZu jktoa’kkoj ,d fVi fygk- 3

¼g½ leqnzxqIrkP;k nf{k.k fot;kps /kksj.k lkaxk- 3

6. izkphu dkGkrhy Hkkjrh; L=h thoukfo"k;h ekfgrh fygk- 12

fdaok

izkphu dkGkrhy Hkkjrh; f’k{k.k O;oLFkk fo"kn djk- 12
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AD–4081

B.A. Part—I (Semester—I) (CBCS) Examination

(Optional Subject)

HISTORY

[History of India (From Earliest Time to 700 A.D.)]

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½

lwpuk :— (1) lHkh iz’u vfuok;Z gSaA

(2) 12 vadksa ds fn?kksZÙkjh iz’uksa ds mÙkj yxHkx 600 ’kCnksa rd gksus pkfg;sA

(3) 3 vadksa ds y?kqÙkjh; iz’uksa ds mÙkj yxHkx 150 ’kCnksa rd gksus pkfg;sA

1. lgh fodYi pqfu;s :—

(1) ^fl;qdh* ;g xzaFk fdlus fy[kk gS \

¼v½ áq,u&Rlax ¼c½ Qkfg;ku

¼d½ bfRlax ¼M½ esxWLFksful

(2) gM+Iik lH;rk fdl izdkj dh Fkh \

¼v½ xzkeh.k ¼c½ ukxjh

¼d½ v/kZukxjh ¼M½ buesa ls ugha

(3) osndky esa fdrus laLdkj ekus tkrs Fks \

¼v½ 16 ¼c½ 8

¼d½ 32 ¼M½ 18

(4) o.kZ O;oLFkk esa fdrus o.kZ Fks \

¼v½ 10 ¼c½ 6

¼d½ 4 ¼M½ 8

(5) ekS;Z lkezkT; dh LFkkiuk fdlus dh \

¼v½ mn;u ¼c½ ukxkuan

¼d½ egsUnz ¼M½ panzxqIr ekS;Z

(6) dkSfVY; us dkSulk xzaFk fy[kk \

¼v½ vFkZ’kkL= ¼c½ nhioa’k

¼d½ egkoa’k ¼M½ gfjfot;
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(7) izfl) uojRu njckj fdldk Fkk \

¼v½ g"kZo/kZu ¼c½ panzxqIr foØekfnR;

¼d½ xkSrehiq= ’kkrd.khZ ¼M½ xksijkt

(8) tSu /keZ ds laiznk; dkSuls Fks \

¼v½ ghu;ku&egk;ku ¼c½ dWFkkWfyd&izksVsLVV

¼d½ fnxEcj&’osrkacj ¼M½ f’k;k&lqUuh

(9) xkSre cq) dh e‘R;q dc gqbZ \

¼v½ b-iw- 389 ¼c½ b-iw- 487

¼d½ b-iw- 587 ¼M½ b-iw- 689

(10) vafre ekS;Z ’kkld c‘gnzFk dks ekjdj ’kqax oa’k dh LFkkiuk fdlus dh Fkh \

¼v½ dfu"d ¼c½ iq";fe=

¼d½ g"kZo/kZu ¼M½ dqekjxqIr

(11) izHkkorhxqIr dk fookg fdl jktoa’k esa gqvk Fkk \

¼v½ okdkVd ¼c½ dq’kku

¼d½ iYyo ¼M½ pksy

(12) vius uke ds vkxs ekrk dk uke yxkus okyk jktk dkSu Fkk \

¼v½ fleqd ¼c½ iqy;keh

¼d½ fot; ¼M½ osnJh

(13) dkSuls oa’k dk dky ^lqo.kZ;qx* ds uke ls tkuk tkrk gS \

¼v½ xqIr ¼c½ okdkVd

¼d½ ’kqax ¼M½ ekS;Z

(14) ekS;Z dky ds nkSjku izfl) fo’ofo|ky; dkSulk gS \

¼v½ r{kf’kyk ¼c½ ukyank

¼d½ dkaph ¼M½ oYyHkh

(15) g"kZo/kZu us loZ/keZ ifj"kn dk vk;kstu dgk¡ fd;k \

¼v½ dqaMyou ¼c½ ikVyhiq=

¼d½ oS’kkyh ¼M½ dUukSt

(16) g"kZo/kZu us dkSulk xzaFk fy[kk \

¼v½ yhykorh ¼c½ jktrjafxuh

¼d½ fiz;nf’kZdk ¼M½ bafMdk
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(17) ukyank fo’ofo|ky; dkSuls rÙoKku dk egRoiw.kZ dsanz Fkk \

¼v½ tSu ¼c½ oS".ko

¼d½ ckS) ¼M½ ’kSo

(18) dfu"diwj ’kgj dk fuekZ.k fdlus djok;k Fkk \

¼v½ v’kksd ¼c½ dqekjxqIr

¼d½ dfu"d ¼M½ g"kZo/kZu

(19) dUukSt ds loZ/keZ lEesyu dk vk;kstu fdlus fd;k \

¼v½ g"kZo/kZu ¼c½ v’kksd

¼d½ foØekfnR; ¼M½ dfu"d

(20) oSfnd dky esa f’k{kk dk dky fdruk Fkk \

¼v½ 12 lky ¼c½ 8 lky

¼d½ 6 lky ¼M½ 10 lky 20×1=20

2. fuEufyf[kr iz’uksa ds mÙkj fyf[k;s %—

¼v½ izkphu Hkkjrh; bfrgkl ds òksr ds :i esa fons’kh ;kf=;ksa ds egRo ds ckjs esa crk;sA 3

¼c½ ^egkLukukxkj* ds ckjs esa fyf[k;sA 3

¼d½ lHkk lfefr ij fVIi.kh dhft;sA 3

¼M½ iwoZoSfnd dkyhu /kkfeZd fLFkfr crkb;sA 3

vFkok

¼b½ izkphu Hkkjr ds bfrgkl ds ok³~e;hu lk/kuksa dk o.kZu dhft;sA 3

¼Q½ izkphu Hkkjr ds bfrgkl dk lk/ku bl n‘f"V ls flDdksa dk egRo Li"V dhft,A 3

¼x½ o.kZO;oLFkk ds ckjs esa crk;sA 3

¼g½ oSfnd dky ds fookg O;oLFkk ds ckjs esa crk,aA 3

3. fuEufyf[kr iz’uksa ds mÙkj nhft;s %—

¼v½ ckS) /keZ ds v"Vkax ekxZ dh foospuk dhft;sA 3

¼c½ ^bafMdk* ds fo"k; esa tkudkjh nhft;sA 3

¼d½ ckS) /keZ ds iaFkksa ds ckjs esa tkudkjh nhft;sA 3

¼M½ lezkV v’kksd us cq) /keZ D;ksa viuk;kA 3

vFkok

¼b½ tSu /keZ ds f=jRuks ds ckjs esa crkb;sA 3

¼Q½ ckS) /keZ ds ^iap’khy rRoksa* ds ckjs esa fyf[k;sA 3

¼x½ tSu /keZ ds izlkj ds dkj.k crk;sA 3

¼g½ ekS;ks± ’kkldks ds tklwlh O;oLFkk dk o.kZu dhft;sA 3



139

139

13
9

139 139

LT—73 12 25

4. xqIrdky ds iz’kklu dk o.kZu djsA 12

vFkok

panzxqIr f}rh; ds dk;ks± dk o.kZu dhft;sA 12

5. fuEufyf[kr iz’uksa ds mÙkj nhft;s %—

¼v½ xqIrdky ds nkSjku oSKkfud {ks= esa D;k fodkl gqvk Fkk \ 3

¼c½ ckS) /keZ esa g"kZo/kZu ds ;ksxnku dh ppkZ dhft;sA 3

¼d½ okdkVdks dk lkaLÑfrd ;ksxnku Li"V dhft,A 3

¼M½ Qkgh;ku ij fVIi.kh fyf[k,A 3

vFkok

¼b½ dkyhnkl ij fVIi.kh fyf[k,A 3

¼Q½ okdkVd jktoa’k ds nkSjku lkekftd fLFkfr dSlh Fkh \ Li"V dhft,A 3

¼x½ o/kZu jktoa’k ij ,d fVIi.kh fyf[k,A 3

¼g½ leqnzxqIr dh nf{k.k fot; uhfr crk,aA 3

6. izkphu dkyhu Hkkjrh; L=h thou ds fo"k; esa fyf[k;sA 12

vFkok

izkphu dkyhu Hkkjrh; f’k{k.k O;oLFkk ds ckjs esa fyf[k,A 12


